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INDIAN ECONOMY ON THE EVE OF INDEPENDENCE
Question 11:

Give a quantitative appraisal of India’s demographic profile during the colonial period.
ANSWER:

India’s Demographic conditions during the British rule depict our economy as stagnant
and backward. Both the birth rate and death rate were as high as 48 and 40 per
thousand. Due to high birth rate and high death rate the population growth was stagnant.
The Infant Mortality Rate was also very high of about 218 per thousand. The Life
Expectancy Rate was as low as 32 years while presently it is 63.5 years. The literacy
rate was less than 16 percent which denotes social backwardness and gender bias in
the economy. We can infer from the above figures that India was featured with massive
poverty, low standard and quality of living and low survival rate in the country. The lack
of health care facilities and lack of health awareness were the main causes behind such
demographic conditions of India.

Question 12:

Highlight the salient features of India’s pre-independence occupational structure.
ANSWER:

The occupational structure that refers to the distribution of population engaged in
different occupations, showed no variation throughout the British rule. The following are
the salient features of India’s pre-independence occupational structure:

1. Agriculture- The Prime Occupation: Under the colonial rule, India was basically an
agrarian economy, employing nearly 85% of its population. As India had a massive
poverty during the colonial rule, so a large proportion of the population was engaged in
agricultural sector to earn their subsistence. But due to the prevalence
of Zamindari system, agricultural sector lacked investment and, thereby, its growth was
highly constrained. Thus, in other words, despite employing a significant proportion of
the population, the growth of agriculture sector was meager.



2. Industry- The Bleak Occupation: Apart from agriculture, a small proportion of
population was employed in manufacturing sector. Nearly 10% of the total workforce
was engaged in manufacturing and industrial sector. This was due to the stiff competition
that the Indian industries faced from the machine made cheap goods from Biritain.
Further, the lack of investment, initiatives and the unfavourable tariff structure
constrained industrial sector. Thus, the Indian industrial sector failed to contribute
significantly to India’s GDP.

3. Unbalanced Growth: The three sectors of Indian economy, i.e. agricultural, industrial
and tertiary sector were unequally developed. While the agricultural sector was relatively
developed, whereas, the other two sectors were at their infant stage. In addition, there
was regional variation in the occupational structure of India. While on the one hand,
states like Tamil Nadu, Andhra Pradesh and Bombay experienced a fall in the
agricultural work force on the other hand states like Orissa, Rajasthan and Punjab
experienced a rise in the agricultural workforce.

Question 13:

Underscore some of the India’s most crucial economic challenges at the time of
independence.

ANSWER:

The exploitative colonial rule of the British hampered almost every spheres of Indian
economy badly. As an end-result, India faced acute economic challenges at the time of
independence. The following are some of the economic challenges faced by the Indian
economy:

1. Low Level of Agricultural Productivity: During the colonial rule Indian agricultural
sector was used by the British to suit to their own interest. Consequently, Indian
agricultural sector experienced stagnancy, low level of productivity, lack of investment,
poor condition of landless farmers and peasants. Thus, the immediate concern for India
was to develop its agricultural sector and its productivity. Some of the immediate reforms
needed at the time of independence were abolition of Zamindari system, need of land
reforms, reducing inequality of land ownership and upliftment of the peasants.

2. Infant Industrial Sector: India failed to develop a sound industrial base during the
colonial rule. In order to develop the industrial sector, India needed huge capital,
investments, infrastructure, human skills, technical knowhow and modern technology.
Further, due to stiff competition from the British industries, India’s domestic industries
failed to sustain. Thus, developing small scale and large scale industries simultaneously
was the main concern for India to develop its industrial sector. Moreover, the need to
increase the share of industrial sector to India’s GDP was one of the important economic
challenges for India.



3. Lack in Infrastructure: Although there was a significant change in the infrastructural
development in the country but this was not sufficient to improve the performance of
agricultural and industrial sector. Also, there was a need to upgrade the existing
infrastructure and to modernise the infrastructure to enhance its efficiency and
effectiveness.

4. Poverty and Inequalities: India was trapped in the vicious circle of poverty and
inequality. The colonial rule drained out a significant portion of India's wealth to Britain.
Consequently, majority of India’s population was poverty trodden. This further
exaggerated economic inequalities across the country.
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